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QUESTION 1

Which twoPasswordManagement options are available forpasswordsthat are locallymanage medwithin VMware SDDC
Manager? (Choose two.) 

A. Reset 

B. Update 

C. Rotate 

D. Change 

E. Replace 

Correct Answer: BC 

 

QUESTION 2

An administrator creates a management domain using the VMware Cloud Bulkier appliance Which type of storage must
be used as principal storage for the management domain? 

A. NFS 

B. vSAN 

C. VMFS on FCoE 

D. VMFS on FC 

Correct Answer: B 

 

QUESTION 3

A customer wishes to integrate their VMware Cloud Foundation deployment with Microsoft CA to be used for SDDC
certificate rotation. Which three requirement achieve this configuration? (Choose three.) 

A. Integrate OpenSSl with Microsoft CA Server so CSRs can be generated for all appliances. 

B. Configure the web server (IIS) security setting to use basic authentication. 

C. Deploy a separate Microsoft ADFS server to integrate with the Microsoft CA server. 

D. Ensure that the service account which is configured on the SDDC Manager has the least privilege access to the
Certificate Authority Service 

E. Configure and issue a VMware Certificate template for Machine SSL and Solution User certificates on the CA server. 

F. Configure the web server (IIS) security setting to use Integrated Windows Authentication. 

Correct Answer: AEF 
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QUESTION 4

An Architect is commission hosts with a Multi-NIC configuration where Management and vMotion traffic are assignto a
vSphere Distributed Switch with 2 uplinks. 

What is one advantage to using VLAN-banked traffic to the physical switches from the vSPhere Distributed Switch? 

A. Layer 2 hashed-based Equal Cost Muto-Pathing (ECMP) out of hypervisor 

B. Bandwidth in the rack is optimized (no inter-switch-link) 

C. Two physical NICs of the hypervisor are actively used 

D. More complex to implement 

Correct Answer: A 

 

QUESTION 5

An architect is tasked with designing a new VMware Cloud Foundation environment. The company will purchase vSAN
Ready Nodes for the management cluster but wants to make use of existing investments where possible, including a
significant investment made recently in an all-flash storage array and 16GB FC fabric. The design must include this
array wherever possible. 

The company wishes to reuse existing ToR switching that will provide four 10GPs Ethernet connection to each host and
one 1Gbps out of band connection. The network will be a standard spine and leaf topology with no layer-2 shared
between racks of infrastructure. The ToR switches are each connected to 4 spine switches, with one 10Gbps
connection. The clusters must be spread across at-least four racks to ensure maximum resiliency. 

Which two constraints impact this design? (Choose two ) 

A. The use of an existing storage array. 

B. VMFS does not support FC SAN with VMware Cloud Foundation 

C. More than one availability design is needed. 

D. The management domain must be contained within one rack. 

E. A spine and leaf topology is used. 

Correct Answer: AD 
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